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AT 17,259 19,370 36,629 9,221 10,343 19,564 53.43 53.40 53.41
REE 2,159,364 2,412,779 4,572,143 1,172,393 1,309,950 2,482,343 54.29 54.29 54.29
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AT 17,259 19,370 36,629 9,222 10,336 19,558 53.43 53.36 53.39

EEEB 2,159,364 2,412,779 4,572,143 1,172,233 1,309,786 2,482,019 54.29 54.29 54.29
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now b o OE B 571 79,532
E B = % 541.594 73,463.945
I FE B OE OB 1,928.405 324,792.003
t £ B F ® 204 28,456
N BH w 3,074 297,967
B E = % 6,784 666,068
H ®x # E % 1,273 151,090
H & # % o = 4,686 779,820
!\iHKt%ﬂ‘JL’Céﬁ#E%:tifn% 188 29,737
=S = T




(B &)

@OEFEZDOAR
BIEE 19,250 TZE, HFLIFYE 3
R E 305 T EERE 19,558
WERE 19,555

OREHHFHHEERER

OFZEDRR
LHAEEHR (N) WEEH (N) BEX (%)
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MNATH 17,250 19,365 36,615 9,138 10,259 19,397 52.97 52.98 52.98
EER 2,158,090 2,410,883 4,568,973 1,163,207 1,298,684 2,461,891 53.90 53.87 53.88




